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Hamming model
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Rate distance tradeoffs
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Singleton bound
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Finite fields revisited
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Lagrange interpolation
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Reed Solomon Codes
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Rate and distance

of non zero coordinaterate
1Hpm

For any linear code Δ c

If if
10.6 x y x y 0

x.gg Day Δ x y 07 pin AC
0

y
For Reed Solomon codes Δ c

frig
i flai 0

in max i frail o

f 1 0
I n k 1 n kt



Unique Decoding Welch Berlekamp 86

can connect any t
AFI 1211 errors

fla flan Channel y yn

y flail in 172 position

Ex Can fix even t n k errors if locations known

Idea Locate errors via another polynomial

flail y elai 0

flail elai yi elai i

ÑTgE1 7



Decoding via error locator polynomials
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And why does that work
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